

Some symmetric identities for twisted (p, q) - L -function

C. S. RYOO

Department of Mathematics, Hannam University, Daejeon 34430, Korea

Abstract : The main of this paper is to obtain some interesting symmetric identities for twisted (p, q) - L -function in complex field. We define the twisted (p, q) - L -function by generalizing the Carlitz's type twisted (p, q) -Euler numbers and polynomials. We give some new symmetric identities for twisted (p, q) - L -function. We also obtain symmetric identities for Carlitz's type twisted (p, q) -Euler numbers and polynomials by using symmetric property for twisted (p, q) - L -function.

Key words : Euler numbers and polynomials, q -Euler numbers and polynomials, twisted q -Euler numbers and polynomials, twisted (p, q) -Euler numbers and polynomials, q - L -function, twisted (p, q) - L -function, symmetric identities.

AMS Mathematics Subject Classification : 11B68, 11S40, 11S80.

1. Introduction

Many (p, q) -extensions of some special numbers, polynomials, and functions have been studied(see [1, 2, 3, 4, 7]). Luo and Zhou [5] introduced the l -function and q - L -function. Ryoo [6] investigated some identities on the higher-order twisted q -Euler numbers and polynomials. In [8], Ryoo presented the multiple twisted (h, q) - l -function. In this paper, we construct twisted (p, q) - L -function in complex field and Carlitz's type twisted (p, q) -Euler numbers and polynomials. We obtain some new symmetric identities for twisted (p, q) - L -function. We also give symmetric identities for Carlitz's type twisted (p, q) -Euler numbers and polynomials of by using symmetric property for twisted (p, q) - L -function.

Throughout this paper, we always make use of the following notations: \mathbb{N} denotes the set of natural numbers, $\mathbb{Z}_+ = \mathbb{N} \cup \{0\}$ denotes the set of nonnegative integers, $\mathbb{Z}_0^- = \{0, -1, -2, -3, \dots\}$ denotes the set of nonpositive integers, \mathbb{Z} denotes the set of integers, \mathbb{R} denotes the set of real numbers, and \mathbb{C} denotes the set of complex numbers. The (p, q) -number is defined as

$$[n]_{p,q} = \frac{p^n - q^n}{p - q} = p^{n-1} + p^{n-2}q + p^{n-3}q^2 + \dots + p^2q^{n-3} + pq^{n-2} + q^{n-1}.$$

Note that this number is q -number when $p = 1$. By substituting q by $\frac{q}{p}$ in the q -number, we can not obtain (p, q) -number. Therefore, much research has been developed in the area of special numbers and polynomials, and functions by using (p, q) -number(see [1, 2, 3, 4, 7]).

By using q -number, Luo and Zhou defined the q - L -function $L_q(s, a)$ and q - l -function $l_q(s)$ (see [5])

$$L_q(s, a) = \sum_{n=0}^{\infty} \frac{(-1)^n q^{n+a}}{[n+a]_q^s}, \quad (Re(s) > 1; a \notin \mathbb{Z}_0^-), \text{ and } l_q(s) = \sum_{n=1}^{\infty} \frac{(-1)^n q^n}{[n]_q^s}, \quad (Re(s) > 1).$$

Inspired by their work, the (p, q) -extension of the twisted q - L -function can be defined as follow: Let ζ be r th root of 1 and $\zeta \neq 1$. For $s, x \in \mathbb{C}$ with $Re(x) > 0$, the twisted (p, q) - L -function $L_{p,q,\zeta}(s, x)$ is define by

$$L_{p,q,\zeta}(s, x) = [2]_q \sum_{m=0}^{\infty} \frac{(-1)^m \zeta^m}{[m+x]_{p,q}^s}.$$

2. Twisted (p, q) -Euler numbers and polynomials

In this section, we define twisted (p, q) -Euler numbers and polynomials and provide some of their relevant properties. Let r be a positive integer, and let ζ be r th root of 1.

Definition 1. For $0 < q < p \leq 1$, the Carlitz's type twisted (p, q) -Euler numbers $E_{n,p,q,\zeta}$ and polynomials $E_{n,p,q,\zeta}(x)$ are defined by means of the generating functions

$$G_{p,q,\zeta}(t) = \sum_{n=0}^{\infty} E_{n,p,q,\zeta} \frac{t^n}{n!} = [2]_q \sum_{m=0}^{\infty} (-1)^m \zeta^m e^{[m]_{p,q}t}. \tag{2.1}$$

and

$$G_{p,q,\zeta}(t, x) = \sum_{n=0}^{\infty} E_{n,p,q,\zeta}(x) \frac{t^n}{n!} = [2]_q \sum_{m=0}^{\infty} (-1)^m \zeta^m e^{[m+x]_{p,q}t}, \tag{2.2}$$

respectively.

Setting $p = 1$ in (2.1) and (2.2), we can obtain the corresponding definitions for the Carlitz's type twisted q -Euler number $E_{n,q,\zeta}$ and q -Euler polynomials $E_{n,q,\zeta}(x)$, respectively.

By (2.1), we get

$$\sum_{n=0}^{\infty} E_{n,p,q,\zeta} \frac{t^n}{n!} = [2]_q \sum_{m=0}^{\infty} (-1)^m \zeta^m e^{[m]_{p,q}t} = \sum_{n=0}^{\infty} \left([2]_q \left(\frac{1}{p-q} \right)^n \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{1}{1 + \zeta q^l p^{n-l}} \right) \frac{t^n}{n!}.$$

By comparing the coefficients $\frac{t^n}{n!}$ in the above equation, we have the following theorem.

Theorem 2. For $n \in \mathbb{Z}_+$, we have

$$E_{n,p,q,\zeta} = [2]_q \left(\frac{1}{p-q} \right)^n \sum_{l=0}^n \binom{n}{l} (-1)^l \frac{1}{1 + \zeta p^{n-l} q^l}.$$

By (2.2), we obtain

$$E_{n,p,q,\zeta}(x) = [2]_q \left(\frac{1}{p-q} \right)^n \sum_{l=0}^n \binom{n}{l} (-1)^l q^{xl} p^{(n-l)x} \frac{1}{1 + \zeta p^{n-l} q^l}. \tag{2.3}$$

Next, we introduce Carlitz's type twisted (h, p, q) -Euler polynomials $E_{n,p,q,\zeta}^{(h)}(x)$.

Definition 3. The Carlitz's type twisted (h, p, q) -Euler polynomials $E_{n,p,q,\zeta}^{(h)}(x)$ are defined by

$$E_{n,p,q,\zeta}^{(h)}(x) = [2]_q \sum_{m=0}^{\infty} (-1)^m p^{hm} \zeta^m [m+x]_{p,q}^n. \tag{2.4}$$

When $x = 0$, $E_{n,p,q,\zeta}^{(h)} = E_{n,p,q,\zeta}^{(h)}(0)$ are called the twisted (h, p, q) -Euler numbers $E_{n,p,q,\zeta}^{(h)}$.

By using (2.4) and (p, q) -number, we have the following theorem.

Theorem 4. For $n \in \mathbb{Z}_+$, we have

$$E_{n,p,q,\zeta}^{(h)}(x) = [2]_q \left(\frac{1}{p-q} \right)^n \sum_{l=0}^n \binom{n}{l} (-1)^l q^{xl} p^{(n-l)x} \frac{1}{1 + \zeta p^{n-l+h} q^l}.$$

By (2.4) and Theorem 2, we have

$$\begin{aligned} E_{n,p,q,\zeta}(x) &= \sum_{l=0}^n \binom{n}{l} q^{(n-l)x} E_{n-l,p,q,\zeta}^{(l)}[x]_{p,q}^l \\ E_{n,p,q,\zeta}(x+y) &= \sum_{l=0}^n \binom{n}{l} p^{xl} q^{(n-l)y} E_{n-l,p,q,\zeta}^{(l)}(x)[y]_{p,q}^l. \end{aligned} \tag{2.5}$$

By (2.1) and (2.2), we get

$$- [2]_q \sum_{l=0}^{\infty} (-1)^{l+n} \zeta^{l+n} e^{[l+n]_{p,q}t} + [2]_q \sum_{l=0}^{\infty} (-1)^l \zeta^l e^{[l]_{p,q}t} = [2]_q \sum_{l=0}^{n-1} (-1)^l \zeta^l e^{[l]_{p,q}t}.$$

Hence we have

$$(-1)^{n+1} \zeta^n \sum_{m=0}^{\infty} E_{m,p,q,\zeta}(n) \frac{t^m}{m!} + \sum_{m=0}^{\infty} E_{m,p,q,\zeta} \frac{t^m}{m!} = \sum_{m=0}^{\infty} \left([2]_q \sum_{l=0}^{n-1} (-1)^l \zeta^l [l]_{p,q}^m \right) \frac{t^m}{m!}. \tag{2.6}$$

By comparing the coefficients $\frac{t^m}{m!}$ on both sides of (2.6), we have the following theorem.

Theorem 5. For $m \in \mathbb{Z}_+$, we have

$$\sum_{l=0}^{n-1} (-1)^l \zeta^l [l]_{p,q}^m = \frac{(-1)^{n+1} \zeta^n E_{m,p,q,\zeta}(n) + E_{m,p,q,\zeta}}{[2]_q}.$$

3. Twisted (p, q) - l -function and twisted (p, q) - L -function

By using twisted (p, q) -Euler numbers and polynomials, twisted (p, q) - L -function is defined. These functions interpolate the twisted (p, q) -Euler numbers $E_{n,p,q,\zeta}$, and polynomials $E_{n,p,q,\zeta}(x)$, respectively. From (2.1), we note that

$$\left. \frac{d^k}{dt^k} G_{p,q,\zeta}(t) \right|_{t=0} = [2]_q \sum_{m=0}^{\infty} (-1)^n \zeta^m [m]_{p,q}^k = E_{k,p,q,\zeta}, \quad (k \in \mathbb{N}).$$

By using the above equation, we are now ready to define twisted (p, q) - l -function.

Definition 6. Let $s \in \mathbb{C}$ with $\text{Re}(s) > 0$.

$$l_{p,q,\zeta}(s) = [2]_q \sum_{n=1}^{\infty} \frac{(-1)^n \zeta^n}{[n]_{p,q}^s}. \tag{3.1}$$

Relation between $l_{p,q,\zeta}(s)$ and $E_{k,p,q,\zeta}$ is given by the following theorem.

Theorem 7. For $k \in \mathbb{N}$, we have

$$l_{p,q,\zeta}(-k) = E_{k,p,q,\zeta}.$$

By using (2.2), we note that

$$\left. \frac{d^k}{dt^k} G_{p,q,\zeta}(t, x) \right|_{t=0} = [2]_q \sum_{m=0}^{\infty} (-1)^m \zeta^m [m+x]_{p,q}^k \tag{3.2}$$

and

$$\left(\frac{d}{dt} \right)^k \left(\sum_{n=0}^{\infty} E_{n,p,q,\zeta}(x) \frac{t^n}{n!} \right) \Big|_{t=0} = E_{k,p,q,\zeta}(x), \quad \text{for } k \in \mathbb{N}. \tag{3.3}$$

By (3.2) and (3.3), we are now ready to define the twisted (p, q) - L -function.

Definition 8. Let $s \in \mathbb{C}$ with $\text{Re}(s) > 0$ and $x \notin \mathbb{Z}_0^-$.

$$L_{p,q,\zeta}(s, x) = [2]_q \sum_{n=0}^{\infty} \frac{(-1)^n \zeta^n}{[n+x]_{p,q}^s}. \tag{3.4}$$

Note that $L_{p,q,\zeta}(s, x)$ is a meromorphic function on \mathbb{C} . Relation between $L_{p,q,\zeta}(s, x)$ and $E_{k,p,q,\zeta}(x)$ is given by the following theorem.

Theorem 9. For $k \in \mathbb{N}$, we have $L_{p,q,\zeta}(-k, x) = E_{k,p,q,\zeta}(x)$.

Observe that $L_{p,q,\zeta}(-k, x)$ function interpolates $E_{k,p,q,\zeta}(x)$ numbers at non-negative integers.

3. Some symmetric identities for twisted (p, q) - L -function

Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain certain symmetric identities for twisted (p, q) - L -function.

Theorem 10. Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. Then we obtain

$$\begin{aligned}
 & [w_2]_{p,q}^s [2]_{q^{w_2}} \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} L_{p^{w_1}, q^{w_1}, \zeta^{w_1}} \left(s, w_2 x + \frac{w_2}{w_1} j \right) \\
 &= [w_1]_{p,q}^s [2]_{q^{w_1}} \sum_{j=0}^{w_2-1} (-1)^j \zeta^{w_1 j} L_{p^{w_2}, q^{w_2}, \zeta^{w_2}} \left(s, w_1 x + \frac{w_1}{w_2} j \right).
 \end{aligned} \tag{4.1}$$

Proof. Note that $[xy]_q = [x]_q [y]_q$ for any $x, y \in \mathbb{C}$. In (3.4), by substitute $w_2 x + \frac{w_2}{w_1} j$ for x in and replace q, p , and ζ by q^{w_1}, p^{w_1} and ζ^{w_1} , respectively, we derive next result

$$\begin{aligned}
 \frac{1}{[2]_{q^{w_1}}} L_{p^{w_1}, q^{w_1}, \zeta^{w_1}} \left(s, w_2 x + \frac{w_2}{w_1} j \right) &= \sum_{m=0}^{\infty} \frac{(-1)^m \zeta^{w_1 m}}{\left[m + w_2 x + \frac{w_2}{w_1} j \right]_{p^{w_1}, q^{w_1}}^s} \\
 &= \sum_{m=0}^{\infty} \frac{(-1)^m \zeta^{w_1 m}}{\left[\frac{w_1 m + w_1 w_2 x + w_2 j}{w_1} \right]_{p^{w_1}, q^{w_1}}^s} \\
 &= [w_1]_{p,q}^s \sum_{m=0}^{\infty} \sum_{i=0}^{w_2-1} \frac{(-1)^{w_2 m + i} \zeta^{w_1 (w_2 m + i)}}{[w_1 (w_2 m + i) + w_1 w_2 x + w_2 j]_{p,q}^s} \\
 &= [w_1]_{p,q}^s \sum_{m=0}^{\infty} \sum_{i=0}^{w_2-1} \frac{(-1)^m (-1)^i \zeta^{w_1 w_2 m} \zeta^{w_1 i}}{[w_1 w_2 (x + m) + w_1 i + w_2 j]_{p,q}^s}.
 \end{aligned} \tag{4.2}$$

Thus, from (4.2), we can derive the following equation.

$$\begin{aligned}
 & \frac{[w_2]_{p,q}^s}{[2]_{q^{w_1}}} \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} L_{p^{w_1}, q^{w_1}, \zeta^{w_1}} \left(s, w_2 x + \frac{w_2}{w_1} j \right) \\
 &= [w_1]_{p,q}^s [w_2]_{p,q}^s \sum_{m=0}^{\infty} \sum_{i=0}^{w_2-1} \sum_{j=0}^{w_1-1} \frac{(-1)^{j+i+m} \zeta^{w_1 w_2 m} \zeta^{w_1 i} \zeta^{w_2 j}}{[w_1 w_2 (x + m) + w_1 i + w_2 j]_{p,q}^s}
 \end{aligned} \tag{4.3}$$

By using the same method as (4.3), we have

$$\begin{aligned}
 & \frac{[w_1]_{p,q}^s}{[2]_{q^{w_2}}} \sum_{j=0}^{w_2-1} (-1)^j \zeta^{w_1 j} L_{p^{w_2}, q^{w_2}, \zeta^{w_2}} \left(s, w_1 x + \frac{w_1}{w_2} j \right) \\
 &= [w_1]_{p,q}^s [w_2]_{p,q}^s \sum_{m=0}^{\infty} \sum_{j=0}^{w_2-1} \sum_{i=0}^{w_1-1} \frac{(-1)^{j+i+m} \zeta^{w_1 w_2 m} \zeta^{w_2 i} \zeta^{w_1 j}}{[w_1 w_2 (x + m) + w_1 j + w_2 i]_{p,q}^s}
 \end{aligned} \tag{4.4}$$

Therefore, by (4.3) and (4.4), we have the following theorem. \square

Taking $w_2 = 1$ in Theorem 10, we obtain the following corollary.

Corollary 11. Let $w_1 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain

$$L_{p,q,\zeta}(s, w_1 x) = \frac{[2]_q}{[2]_{q^{w_1}} [w_1]_{p,q}^s} \sum_{j=0}^{w_1-1} (-1)^j \zeta^j L_{p^{w_1}, q^{w_1}, \zeta^{w_1}} \left(s, x + \frac{j}{w_1} \right).$$

Let us take $s = -n$ in Theorem 10. For $n \in \mathbb{Z}_+$, we obtain certain symmetry identities for twisted (p, q) -Euler polynomials.

Theorem 12. Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain

$$\begin{aligned} & [w_1]_{p,q}^n [2]_{q^{w_2}} \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} E_{n,p^{w_1},q^{w_1},\zeta^{w_1}} \left(w_2 x + \frac{w_2}{w_1} j \right) \\ &= [w_2]_{p,q}^n [2]_{q^{w_1}} \sum_{j=0}^{w_2-1} (-1)^j \zeta^{w_1 j} E_{n,p^{w_2},q^{w_2},\zeta^{w_2}} \left(w_1 x + \frac{w_1}{w_2} j \right). \end{aligned}$$

Taking $w_2 = 1$ in Theorem 12, we obtain the following distribution relation.

Corollary 13. Let $w_1 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain

$$E_{n,p,q,\zeta}(w_1 x) = \frac{[2]_q}{[2]_{q^{w_1}}} [w_1]_{p,q}^n \sum_{j=0}^{w_1-1} (-1)^j \zeta^j E_{n,p^{w_1},q^{w_1},\zeta^{w_1}} \left(s, x + \frac{j}{w_1} \right).$$

By (2.5), we have

$$\begin{aligned} & \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} E_{n,p^{w_1},q^{w_1},\zeta^{w_1}} \left(w_2 x + \frac{w_2}{w_1} j \right) \\ &= \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} \sum_{i=0}^n \binom{n}{i} q^{w_2 j(n-i)} p^{w_1 w_2 x i} E_{n-i,p^{w_1},q^{w_1},\zeta^{w_1}}^{(i)}(w_2 x) \left[\frac{w_2}{w_1} j \right]_{p^{w_1},q^{w_1}}^i \\ &= \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} \sum_{i=0}^n \binom{n}{i} q^{w_2 j(n-i)} p^{w_1 w_2 x i} E_{n-i,p^{w_1},q^{w_1},\zeta^{w_1}}^{(i)}(w_2 x) \left(\frac{[w_2]_{p,q}}{[w_1]_{p,q}} \right)^i [j]_{p^{w_2},q^{w_2}}^i \end{aligned}$$

Hence we have the following theorem.

Theorem 14. Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain

$$\begin{aligned} & \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} E_{n,p^{w_1},q^{w_1},\zeta^{w_1}} \left(w_2 x + \frac{w_2}{w_1} j \right) \\ &= \sum_{i=0}^n \binom{n}{i} [w_2]_{p,q}^i [w_1]_{p,q}^{-i} p^{w_1 w_2 x i} E_{n-i,p^{w_1},q^{w_1},\zeta^{w_1}}^{(i)}(w_2 x) \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} q^{w_2(n-i)j} [j]_{p^{w_2},q^{w_2}}^i. \end{aligned}$$

For each integer $n \geq 0$, let $\mathcal{A}_{n,i,p,q,\zeta}(w) = \sum_{j=0}^{w-1} (-1)^j \zeta^j q^{j(n-i)} [j]_{p,q}^i$. The sum $\mathcal{A}_{n,i,p,q,\zeta}(w)$ is called the alternating twisted (p, q) -power sums.

By Theorem 14, we have

$$\begin{aligned} & [2]_{q^{w_2}} [w_1]_{p,q}^n \sum_{j=0}^{w_1-1} (-1)^j \zeta^{w_2 j} E_{n,p^{w_1},q^{w_1},\zeta^{w_1}} \left(w_2 x + \frac{w_2}{w_1} j \right) \\ &= [2]_{q^{w_2}} \sum_{i=0}^n \binom{n}{i} [w_2]_{p,q}^i [w_1]_{p,q}^{n-i} p^{w_1 w_2 x i} E_{n-i,p^{w_1},q^{w_1},\zeta^{w_1}}^{(i)}(w_2 x) \mathcal{A}_{n,i,p^{w_2},q^{w_2},\zeta^{w_2}}(w_1) \end{aligned} \tag{4.5}$$

By using the same method as in (4.5), we have

$$\begin{aligned} & [2]_{q^{w_1}} [w_2]_{p,q}^n \sum_{j=0}^{w_2-1} (-1)^j \zeta^{w_1 j} E_{n,p^{w_2},q^{w_2},\zeta^{w_2}} \left(w_1 x + \frac{w_1}{w_2} j \right) \\ &= [2]_{q^{w_1}} \sum_{i=0}^n \binom{n}{i} [w_1]_{p,q}^i [w_2]_{p,q}^{n-i} p^{w_1 w_2 x i} E_{n-i,p^{w_2},q^{w_2},\zeta^{w_2}}^{(i)}(w_1 x) \mathcal{A}_{n,i,p^{w_1},q^{w_1},\zeta^{w_1}}(w_2) \end{aligned} \tag{4.6}$$

Therefore, by (4.5) and (4.6) and Theorem 12, we have the following theorem.

Theorem 15. Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain

$$\begin{aligned} & [2]_{q^{w_1}} \sum_{i=0}^n \binom{n}{i} [w_1]_{p,q}^i [w_2]_{p,q}^{n-i} p^{w_1 w_2 x i} E_{n-i, p^{w_2}, q^{w_2}, \zeta^{w_2}}^{(i)}(w_1 x) \mathcal{A}_{n,i, p^{w_1}, q^{w_1}, \zeta^{w_1}}(w_2) \\ &= [2]_{q^{w_2}} \sum_{i=0}^n \binom{n}{i} [w_2]_{p,q}^i [w_1]_{p,q}^{n-i} p^{w_1 w_2 x i} E_{n-i, p^{w_1}, q^{w_1}, \zeta^{w_1}}^{(i)}(w_2 x) \mathcal{A}_{n,i, p^{w_2}, q^{w_2}, \zeta^{w_2}}(w_1). \end{aligned}$$

By Theorem 15, we obtain the interesting symmetric identity for the twisted (h, p, q) -Euler numbers $E_{n,p,q,\zeta}^{(h)}$ in complex field.

Corollary 16. Let $w_1, w_2 \in \mathbb{N}$ with $w_1 \equiv 1 \pmod{2}$, $w_2 \equiv 1 \pmod{2}$. For $n \in \mathbb{Z}_+$, we obtain

$$\begin{aligned} & [2]_{q^{w_1}} \sum_{i=0}^n \binom{n}{i} [w_1]_{p,q}^i [w_2]_{p,q}^{n-i} p^{w_1 w_2 x i} \mathcal{A}_{n,i, p^{w_1}, q^{w_1}, \zeta^{w_1}}(w_2) E_{n-i, p^{w_2}, q^{w_2}, \zeta^{w_2}}^{(i)} \\ &= [2]_{q^{w_2}} \sum_{i=0}^n \binom{n}{i} [w_2]_{p,q}^i [w_1]_{p,q}^{n-i} p^{w_1 w_2 x i} \mathcal{A}_{n,i, p^{w_2}, q^{w_2}, \zeta^{w_2}}(w_1) E_{n-i, p^{w_1}, q^{w_1}, \zeta^{w_1}}^{(i)}. \end{aligned}$$

Acknowledgement: This work was supported by 2020 Hannam University Research Fund.

REFERENCES

1. Agarwal, R.P.; Kang, J.Y.; Ryoo, C.S.(2018). *Some properties of (p, q) -tangent polynomials*, Journal of Computational Analysis and Applications, v.24, pp. 1439-1454.
2. Araci, S.; Duran, U.; Acikgoz, M.; Srivastava, H.M.(2016). *A certain (p, q) -derivative operator and associated divided differences*, Journal of Inequalities and Applications, v. 2016:301, DOI 10.1186/s13660-016-1240-8.
3. Duran, U.; Acikgoz, M.; Araci, S.(2016). *On (p, q) -Bernoulli, (p, q) -Euler and (p, q) -Genocchi polynomials*, J. Comput. Theor. Nanosci., v.13, pp. 7833-7846.
4. Hwang, K.W.; Ryoo, C.S.(2019). *Some symmetric identities for degenerate Carlitz-type (p, q) -Euler numbers and polynomials*, Symmetry, v.11, 830; doi:10.3390/sym11060830.
5. Luo, Q.M.; Zhou, Y.(2011). *Extension of the Genocchi polynomials and its q -analogue*, Utilitas Mathematica, v.85, pp. 281 - 297.
6. Ryoo, C.S.(2017). *Some identities on the higher-order twisted q -Euler numbers and polynomials*, J. Computational Analysis and Applications, v.22, pp. 825-830.
7. Ryoo, C.S.(2017). *On the (p, q) -analogue of Euler zeta function*, J. Appl. Math. & Informatics v.35, pp. 303-311.
8. Ryoo, C.S.(2020). *Symmetric identities for Dirichlet-type multiple twisted (h, q) - l -function and higher-order generalized twisted (h, q) -Euler polynomials*, Journal of Computational Analysis and Applications, v.28, pp. 537-542.